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Veriﬁcatipn t Putx =5 in the given equation,

we get :
LHS. = 2x-3 RHS. =x+2
=2(5-3 =5+2
. =10-3=7 =7
“+ LH.S. = RHS. !

S

S

%

Both sides are equal

Hence, the solution is verified.

(2) We have, 5x -6 =2x + 9

Transposing - 6 to R.H.S. and 2x to L.H.S. we

get : .
SX—-2x =9+6=3x=15
15
= X = — =15 Ans.
Verification : Put x = 5 in the given equation.
LHS. = 5x-6 LHS. =2x+9

=5(05)-6 =205)+9
— 25 - 6 = 10 + 9
=19 =19

.. LHS. = RH.S.

Both sides are equal.
Hence, the solution is verified.
(3) Wehave: 5a-3=35-5

- Transposing — 3 to R.H.S and 34 to LH.S. we
get '

S5a-3a = -5+3
= 2a = -2
= a = 72 =—-1Ans.
Verification : Putg=—1in the given equation,
we get .

LHS. = 5¢-3 RHS.=3g-5
=5D-3 =3(-1)-5
=-5-3 =-3-5
= -8 =-8

. LH.S. = RH.S.

Both sides are equal

Hence, the solution is verified,

(4) We have : 5x + 9 =5 + 3%

Transposing 9 to R.H.S. and 5 to L.H.S., we

get

5x-3x =5-9
= 2x = -4
= "x= :£=—2AHS.

—— = 2in the given equatiop
Verification :

we get

RHS.=5+3x
L.H.S.

=5+3(~2)
=5-6

=-1

5+ 9
= 5(- 2)+ 9
= -10+9
= -1
= S.
- LHS. = RH : .
Hence, the solution 18 verified.

(5) We have : 4y + 3=6 +d2; oLits, 3
Transposing 3 to R.H.S. and 2y

[\l

get :
4y -2y = 6 - 3
= 2y = 3
3
- = — Ans.
3 the given equation
Verification : Puty = 5 inthe g :
we get :
LHS. =4y+3 RHS. =6+ 2y
) ;)
= 45)* =6+2(3
=6+3=9 =6+3=90
- LH.S. = R.H.S.

Hence, the solution is verified.
(6) We have : 3x -1 =15 — &

Transposing — 1 to R.H.S. and — x to L.H.S.
we get :

15+1

X +x =
> 4x = 16
16
= X = I=4 Ans.
Verification : Put x — 4 in the given equation,
we get : :

" LHS. = 35 _ 1 RHS. =15-x
=3@-1 =15-4
= 12-1=1j =11

s LHS. = R.H.S.
Hence, the solution g verified.
(7)Wehave:4x+3=2(x— )+5



get

ﬁxsposing 3 toR.

Rt N

H.S. angd 2x to L.H.S. to
ax — 2 = 3 —~ 3
Ty 2x =

0
0= y= = _
3 2-‘0Ans.

yerification : Put x =0, in the given equation

weget: 4
‘1. HS.= 4x+3
: = 4(0) + 3 R‘I-I'S'-‘-z(v‘f--l)+5
. =2 1y
=0+3 =’_(2(‘)+51)+5'
o =3 A =3 -
L.H‘.S.= R.H.S.

Hence, the solution is verified.

@) Wehave : 31 -5=4(1+2)-6

> 31-5=4+8-6

> 3l-5=41+2

Transposing — 5 to R.H.S. and 41 to LHS we

get -

-4l = 2+5

= —l =7=>1=-7Ans.’

Verification : Put[=—7 in the given equation,

we get:
LHS.= 31-5 RHS.=4(@+2) -6
=37-5| . —4(-7+2)—6.
£ 291=5 —4(-5)-6
= —26 =—20—6=-—26
.. L.H.S. = RHS.

Hence, the solution is verified.
\ (9)Wehave:6x=5(x+ 10) - 2
= 6x = Sx+50-2
= ' 6x = 5x+48 |
Transposing 5 to R.H.S. we get

6x — 5x = 43
= x = 48 Ans.
Verification : Put x = 48 in the given equation,
we get : :
LHS.= 6x  |RHS.=5x+10)-2
= 6(48) =5 (48 + 10) -2
\ = 288 =5 (58) -2

} —200 — 2 = 288
v. LHS. = RHS. ‘
Hence, solution is verified.
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